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48 EXAM TYPE OBJECTYIVE QUESTION ANSWER

1. AP 3 FT UTpfas wid fFafafaa A ®=8 2

(a) HART (b) THTEY

(c) R (d) T

Answer - B




2 . UAfe® A BT IUPACHTH S ?

Answer - A

3. YT P -d dRIS GIRAT BT [T fora= fmam 41 2

(a) BIed A (b) 1B A

(c) AR 3 (d) STH A HIS 7Y

Answer - B




4 . FicRran Srafds oa & 1Y FUFFAT HI AT 2

(a) A= (b) BT

(c) TdH (d) TUTSH

Answer -D

5. el & GH TUH 3Fd Ad A AT Sar g 2

(a) BIIEAT (b) ST

(c) G (d) TR

Answer - C




6 . ATTUPIY Sroll UTed HIA 8 SATAAD © ?

(a) Riferpra (b) Tefraq

(c) TEfAT I (d) SHIfPras

Answer - B

7. PO o 91 uerd W9 & fore uyea T8 frar s awan 8 2

(a) STt (b) PII

(c) EIRCP (d) Forgh

Answer - D




8. A9 U Y& BIHd B BT fha-i g ?

(a) & (b) TP

(c) I (d) TTH & BIS 78T

Answer - A

9. faega wE fagga 4T & f5a Tua W wRf Hrar g 2

(a) ST (b) GBI

(c) IETA® (d) Wi

Answer - A




10 . fIEga YRT ST A Dt G I Hed @ ?

(a) HIER (b) Tea-Hex

(c) THIER (d) Sifr

Answer -D

11. 1 A BTHAM BT E ?

(a) 4.18 BARY

(c) 0. BARY

Answer - B




12 . T 9 ¥ad (TR ) Bl Iyl IR A vy frar sman g 2

(a) PP SI GRT (b) g g1

(c) 3MTfeict gRT (d) 59 i

Answer - B

13 . P UG fbaH URIT STAT & ?

(a) SrHtaT (b) R REH

(c) PIRPT H7 (d) STH A BIS 51

Answer - A




14 . UTeY H TS0 IWRaTS @ ?

(a) SIcT T de-T

(c) ST 3 pT a8

Answer - A

15 . WIS H 9a® TS o5 BT U ¢ ol HalUd @ ?

(a) TT9OT (b) ST

(c) SIS (d) uRag=

Answer - C




16 . BTA-IA YU UAPRS P 8 ?

(a) — CHO

(c) —COOH

Answer - C

(b) —O —

(d) 379 H IS A1

17 . BIETHTE ?

(a) UTd

(c) SUHTG

Answer - D




18 . BIRT 3N ATSC HTIT F FATE ?

(a) THTAYGL

(c) IgTTP

Answer -D

19 . o1 fagga Ha= g Setf @) fagyd Sl § S Uiaivd ST e

(a) ATH SHeit (b) YD SHeit

(c) AR St (d) FRfast St

Answer - D




20. P A A e srfwa glar g ?

(a) Ut (b) T
(c) TTSe! (d) TTEST
Answer -D

21 . A9 §¢ UR ITAP HTURRIY ?

(a) FGAT B (b) TEAT

(c) SgaT gCAT g1 & (d) $TH H BIS el

Answer - A




22 . FradAfrassgieda S A amdu g 2

(a) CH4 (b) C2H6

(c) C3H4 (d) C3HS8

23 . fida g ?

(a) ©T]

(c) SYUT

Answer - B




24 . f ¥| o4 Smafa® Fiftie 8 2

(a) CH4 (b) CO2

(c) cacl2 (d) NH3

25 . AigT A i dftd s Ft fpaTH Pga & 2

(a) TETROT (b) e I-THOT

(c) UTIt AGTT (d) fagga erqee

Answer - B




26 . fmifera o & frd Smu SuHieT Y Joft # 36T 2

(a) BXUIY

(c) STl SR

Answer - C

(b) e R Rara

(d) B 3R U

27 . X NABEATI B ?

(a) ST

(c) SUHISIT

Answer - A




28 . UTpTaed A Gdl TR Soll ST BT A 8 ?

(a) CADS|] (b) ‘I&

(c) T (d) TPHSY

Answer - A

29 . fraferfad & @ &1 T YfORTd <Td &1 318018 ?

(a) TSI (b) PaAT

GGIGIC] (d) 99%

Answer - B




30 . 3% & TP 3] H fra TRATY[ & 2

(a)1 (b) 2

(c)3 (d) 4

31 . JEATU] &1 AU BaT 8 2

(a) GUUT H

(c) SIBTRIA H

Answer - A




32 faeriiy efdewior @ garRl 5 siftre gw=are »

(a) T & faemdf (b) feitsht

(c) TP (d) ST

Answer - B

33, R S HSd BT U a4 & ?

(a) 1840 o (b) 1842 S0

(c) 1845 So (d) 1847 S0

Answer - D




34 . G foFd TG &7 Wvft 8 ?

(a) HIERDT (b) TfRrST

(c) STfee (d) TTH A BT TN

Answer - A

35 . fFgfafed 4 @ o9 fAgga RuaiR s1s 1 uE@ g 2

(a) dieT (b) 3

(c) dtee ufd oo (d) TR

Answer - A




36 . faggd <Ifea &1 Tqeng A & 2

(a)dle (b) diee

(c) 5[ /DTS (d) ST /9eT

Answer - A

37. Apc R IV R T & o fra da w1 IagR a1 8 2

(a) 3t (b) 3ddd

(c) THAA (d) It

Answer - B




38 . A7 A U B a1t BT fHoN &1 Siftrepizr srgad= gidr 8

(a) =G SR Y8 WR (b) SFHAT P SRYFY W

(c) PIAT & A8 Y§ W (d) T

Answer - B

39 . A TAAh BT ATH ATHIT & ?

(a)4 cm (b) 2.3 cm

(c) 3.2cm (d) 3.8cm

Answer - B




a0 . FFrafafEa & S aife sifufparia @ 2

(a) Cu (b) Hg

(c) Ag (d) Au

41 . HYATS D 3FA BT YTH ATH FATE ?

(a) BITH® ¥ (b) TRIfe® 3

(c) M 3ra (d) T | I T8l

Answer - A




42 . ATHT A CnH2n 9T TS B8 ST § ?

(a) Tl (b) THT

(c) TepT CRSHES]

Answer - A

43 . A1 BT IS A FTE ?

(a) CH3COOH (b) C2H1206

(c) C12H22011 (d) CH3CHO

Answer - C




44 . TSI BT IS A3 ?

(a) C2H50H (b) C6H1206

(c) C6H606 (d) C6H6

45 . A A P17 weHUS A @ 2

(a) CH4 (b) Nacl

(c) CaClI2 (d) Na20

Answer - A




46 . faggd YRTHTs. | AAS & ?

DEIGH (b) TETH

(c)are (d) TfUaR

Answer -D

47 . fPT AT H TR P AR S A MAT S S Al S g @ ?

(a) @A AH (b) ST &Y

(c) THdASTd A (d) 3T 9§ B T8l

Answer - B




48 . JMAY BT HATF & ?

(a) BETH

(c) PRI

Answer - A

(b) dice

(d) 3T




